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ot o ) cMBolEYL Ene 1OE R, [48x10:405]

(1)There's very little probability of an mert () (ZxX)
<be|:§ read1er}ol( Jis regwoeo(/ rezydvl‘rg/wi”a%r:ereacheo( [>

]

2) Tm (oo‘\‘('ng forwardd () you at Christmas. (FLFREX)
<t see/to .Seel'ng /o vfs(t-/ﬁ)r seef‘ng > [ ]

3) T'm ashameol ( ) kind to the old woman on the truin. (B&E£FX)

ot of having been /of having been not
of having nrgt been /o not ving been> I

()1 hod some difficulty () one stuolent from anotter: (REEHK)
< and Tblfl‘rg/fn ’celh‘ng /1o te(h'ng/on ‘celh'ng> [ i

(5) The participants obJ‘ecteol o () like chiblren. (T4HREX)
<be treabed/befng treated/ have treatedd /treae > [

(6) Since Ann started 1 lie dlone, she haol 1o %et usedd ( )by herself
<COO‘<(hQ/‘!D cook /o ooofqrg/cook>(_t%’ ) [ ]

(T)What do you say () tennis on Sunky? (AEERK)
< about play /0 play / for Playrng/ e playl'ng> [

(8) She came pretty near to ( )at the s%‘%‘ht of her mother
< cried /cry /cryl'ng /ben‘ng crieol > (TEEEEX) [ 1

(9) Thete's o point ) @ pro i you never play 1t (B=X)
<t hae/ g)co ('nw'ng b l‘nP' havfrg }D for haw'ng>P }’[ 1

(10)Mrs. Robihson was busy () her ter cook in the kitchen
< help ? 1o he(p/ hefplhgy / for hefpizgh > [ 1



2| BB I E2ED, [58x5: 58]

()]t (hu‘m/l‘s/no/“tellukg/to oo /use/ what: ) (I&HEX)
I [ [

(2)(@) Needlless 1o say, hunger s the best sause. (4EEIEX)

= (b) I qoes ( ) ( ) ( )hunger is the best smuse

(3)@)I am ashamed that I did such a thing.
= (b) ] am ashamed of ( ) ( ) " such a th:‘rg. (FEmK)

(4)As soon as he artived at the door, the boy knocked on it loudly

= ( ) ( ) at the ooor, the boy knocked on it louo()(é/.
(£BEXK)

(5)  comes /martied/when/to /it /getting ), what does a man really think?
[ 1, what does a man really think?

3| BEXE( INoEEF- CHEEE D, [ Taxs :3658]
(1) 20 Ty BBESHEER B IB3MME £#63. ( worth )
The estinated cost of the project [

=Tt 5 [ 1 (&)
(QEEH B, BEBIcATHEBE 30D, (thete, 10 us ) (TY5- %t‘.&l)

(3) 5. (2 BRI F=XELTEST, (el Surndans )
[ PR e ] (EREEEX)

() BHBOE R ENSTSLEL DS, (need )

Those  winolows [ 1
= Thase windows [ | (refEX)

(S)[ 1B+ EEoR < 2B LE, (dewte)
%)o
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